1. &R Fa%(x-y)+2ab(y—x) g JAFE LF IE A2
H7|
Q@ aly+x) © a(x-y)(a-b)
© ala-2b) @ x(a-2b)
@ x-y ® (x-y)(a=2b)
© @.6.6 ® 0.6.0 ® ©.e.6

® ©,0,0 ® ,0,0



©9

7 HAAZA T Q5D ), 4 o g

9
A —
+x+4

=
9






4. 20x*-ax-9= (4x-3)(5x—b) A W, a+ b 9] S Fo}H?

@D -3 ® 3 B -1 @ 0 B 1



S- - ~ Q
y Twl\nv.ll
I
/Il\ +
~a-- S
& B ,
{ _ =3
— Twl\__oE
N o ° LZIM
— __01_l
g B B o i
U L_Uhdoq_mo]
ET%A._ L~
ﬂ,&@ﬂﬁé
%%11}A
T X
G ol — NI
;o,_7ﬂ11_| ny
m]@lﬂld.oﬂ
i o B
N o xm__oqa,
sFrlEES
Jor 8
1%7_|,mﬂnumuﬂo
L ER LS
%@ﬂa;_almﬂ
xﬁan_/_u,lﬂua_e:.l
SN
N

=7}

@ (2a+ b)?

D x2+5x+6

@ (4a+b)?

@ 4x?
x° + 20x + 25

B 25



—~

x—2y)(x—2y-4g) - 12z o] Alp7b 1 & T dapA o] go= <
2ol o, & LA 9] g2 oY

T

® 2x-4y+4z @ 2x-4y-4z ® 2x-4y+ 3z

@ 2x+ 4y + 4z ® 4x -2y -4z



o



N

o a? -0
b? o s T
& ool



9. x-10°]3x*-ax-429 A5 W], a o & Fsteiet

Qe



10.

oJZFA] x* + Ax+B & 5 &
Z5 Hof (x+4) (x+3) ©]
(x+1) (x+7) °] Het. v=

AE?

D x+2)(x+6) @ (x+1)(x+6) @ (x-2)(x-6)
@ (x-1)(x-6) ® (x+3)(x+4)



@ 2(x+1) (x—%)
@ 2(x+1)(x—-1)



o G BRG] (x4 - - (v +



13. a+b=20°]1,a(a-1)-bb+1)=6 L ™, a—b 2] F-Z F}HA?

D 2 ® 4 B 6 @ 11 B 16



14. x®—4xy+3y?—6x+2y-16 < A5l SFAEHY (x+ay+b) (x+cy+d)
7FEATk ol ®, a+ b+ c+d O F2?

D -10 @ -9 3 -8 @ -3 B 2



15.

20093 + 1

2008 x 2009 + 1

& Aprstoier.

w
=






A o, g? + 2ab + b% 9] Fr?

3) 4 @ 5 B 6



1@0

- 21 F A

2—«/5’2+

Hol7t 42}

18.

Ot

Ll

B 843

® 8 ® 14 @ 43

@D 4



19. xof T3t o] 24 22 + 9x + k7t (x+a) (x +b) 2 15 Bl o, k
o] HgtZ otk (H, a, b= AL

e =
-



(a+1)*+ (b+1)
(a+1)(b+1)

Rlciatb=

20. =24, a+b 9 = FStoit



